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Figure 8.20: Tree-rewriting rules for some target-machine instructions

1) Ri + Ca { LD Ri, #a }
2) R + M, { LD Bi, = }
3) M <+ = {8T =z, Ri }
RN
M R;
4) M + = { ST #Ri, Rj }
/N
ind R;
I
R;
5) R + ind { LD Ri, a(Rj) }
|
+
7\
Ca, R]
6) R; + + { ADD Ri, Ri, a(Rj) }
/N
R; ind
l
+
RN
Ca_ .RJ
7) R, + + { ADD Ri, Ri, Rj }
/N
R; R;
8) R; + A+ { INC R: }
RN
R; Ci
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i=1

j=1

tl =10 % i

t2 = t1 + j

t3 = 8 % t2

t4 = t3 - 88
alt4] = 0.0
j=3+1

if j <= 10 goto (3)
i=1+1

if i <= 10 goto (2)
i=1

th =1 -1

t6 = 88 * tb
alté] = 1.0
i=1i+1

if 1 <= 10 goto (13)

igure 8.7: Intermediate code to set a 10 x 10 matrix to an idéntity matrix
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'ENTRY

i=1
y
j=1
. /
t:1 = 10 * 1
ta = t1 + j
[ t3 =8 * to
tq4 = t3 - 88
=341

if j <= 10 goto Bs

Y

i=1i+1
if i <= 10 goto B

i=1

y
ty = i‘— 1
te = 88 * tj
alte] = 1.0
i=13i+1

if i <= 10 goto Bs

:

EXIT

Figure 8.9: Flow graph from Fig. 8.7



